

Inequalities and Asymptotic Formulae Related to Generalizations of the Bessel Functions

Jordanka Paneva-Konovska

Faculty of Applied Mathematics and Informatics, Technical University of Sofia, 1000 Sofia, Bulgaria

Abstract. We consider some families of 3-index generalizations of the Bessel functions of first kind and study the behaviour of such families in domains of the complex plane. We also prove asymptotic formulae for "large" values of indices of these functions. Similar theorems have also been obtained by the author for the Bessel and Bessel-Maitland functions.

Keywords: asymptotic formula, Bessel functions, Bessel-Maitland functions, multi-index Mittag-Leffler functions, Wright functions.

PACS: 02.30.Gp, 02.30.Lt

INTRODUCTION

Let us mention first the so-called Bessel-Clifford functions $C_\nu(z)$, closely related to the Bessel functions $J_\nu(z)$,

$$C_\nu(z) = z^{-\nu/2} J_\nu(2\sqrt{z}) = \sum_{k=0}^{\infty} \frac{(-1)^k (z)^k}{k! \Gamma(k + \nu + 1)}, \quad \nu \in \mathbb{C},$$

which are entire functions of z . Generalizations of the Bessel functions (more precisely, of the Bessel-Clifford functions) involving one more additional index μ have been introduced by E.M. (Maitland) Wright [12], called Wright functions or misnamed in the literature also as Bessel-Maitland functions, namely:

$$J_\nu^\mu(z) = \sum_{k=0}^{\infty} \frac{(-z)^k}{k! \Gamma(\nu + \mu k + 1)}, \quad \mu > -1. \quad (1)$$

For details, see Marichev [6], p.109; Kiryakova [3], p.336, [5] etc. Further generalizations of $J_\nu(z)$ have been considered with additional new parameters, like the generalized Bessel-Maitland (or Wright) functions (Pathak [10]):

$$J_{\nu,\lambda}^\mu(z) = (z/2)^{\nu+2\lambda} \sum_{k=0}^{\infty} \frac{(-1)^k (z/2)^{2k}}{\Gamma(\lambda + k + 1) \Gamma(\nu + k\mu + \lambda + 1)}, \quad z \in \mathbb{C} \setminus (-\infty, 0], \quad \mu > 0. \quad (2)$$

In particular ([6], p.110; [3], p. 352-353):

$$J_{\nu,0}^1(z) = J_\nu(z); \quad J_{\nu,0}^\mu(z) = (z/2)^\nu J_\nu^\mu(z^2/4), \quad J_\nu^1(z) = C_\nu(z). \quad (3)$$

AUXILIARY STATEMENTS

Consider now the generalized Bessel-Maitland (Wright) functions (2) for indices of the kind $\nu = n - 2\lambda$; $n = 0, 1, 2, \dots$,

$$J_{n-2\lambda, \lambda}^{\mu}(z) = (z/2)^n \sum_{k=0}^{\infty} \frac{(-1)^k (z/2)^{2k}}{\Gamma(\lambda + k + 1) \Gamma(n - \lambda + k\mu + 1)}, \quad z \in \mathbb{C}. \quad (4)$$

Remark 1. Note, that it is possible some coefficients to vanish, depending on the values of the parameter λ , that is there exist numbers $p \in \mathbb{N}_0, s \in \mathbb{N}$ such that the identity (4) can be written in the following form

$$J_{n-2\lambda, \lambda}^{\mu}(z) = (z/2)^n \left(\frac{(-1)^p (z/2)^{2p}}{\Gamma(\lambda + p + 1) \Gamma(n - \lambda + p\mu + 1)} + \sum_{k=p+s}^{\infty} \frac{(-1)^k (z/2)^{2k}}{\Gamma(\lambda + k + 1) \Gamma(n - \lambda + k\mu + 1)} \right). \quad (5)$$

It is not difficult to see that these are entire functions of z ([4]).

Remark 2. We use the denotations \mathbb{R}^- (resp. \mathbb{R}^+) for the sets of negative (resp. positive) real numbers, \mathbb{Z}^- (resp. \mathbb{N}) for the sets of negative (resp. positive) integers and $\mathbb{Z}_0^- = \mathbb{Z}^- \cup \{0\}$, and also $a_k = \frac{1}{\Gamma(\lambda + k + 1)}$, $b_k = \frac{1}{\Gamma(n - \lambda + k\mu + 1)}$, $c_k = a_k b_k$, $k = 0, 1, 2, \dots$

We consider four main cases.

Lemma 1. *If $\lambda \in \mathbb{C}$, but λ is not negative integer or positive real number, then $p = 0$ and $s = 1$.*

Proof. Obviously, $\lambda + k + 1$; $n - \lambda + k\mu + 1$ are not non-positive integers and because of that $c_k \neq 0$, for all the values of k . ■

Lemma 2. *If λ is negative integer, then $p = -\lambda$ and $s = 1$.*

Proof. Since λ belongs to \mathbb{Z}^- , then $n - \lambda + k\mu + 1$ are positive numbers for all k and $\lambda + k + 1 \notin \mathbb{Z}_0^-$ for $k \geq -\lambda$, id est $c_k = 0$ for $0 \leq k < -\lambda$ and $c_k \neq 0$ for all $k \geq -\lambda$. ■

Lemma 3. *If λ is positive non-integer real number, then $p = 0$ and $s = 1$ or $s = 2$.*

Proof. In this case a_k are positive numbers for each $k = 0, 1, 2, \dots$ and $b_0 \neq 0$ but it possible some of the rest b_k to be zero. Now, let $k = 1$, then two possibilities exist: Or $n - \lambda + \mu + 1 \notin \mathbb{Z}_0^-$, and then $b_1 \neq 0$ either $n - \lambda + \mu + 1 \in \mathbb{Z}_0^-$, and then $b_1 = 0$. Second case is possible only if $\mu \notin \mathbb{N}$, but then $n - \lambda + 2\mu + 1 \notin \mathbb{Z}_0^-$ and $b_2 \neq 0$. So, there are two possibilities, namely, $c_0 \neq 0, c_1 \neq 0$ or $c_0 \neq 0, c_1 = 0$, but $c_2 \neq 0$. ■

Lemma 4. *If λ is positive integer, then*

1. $p = 0$ and $s = 1$ for $n \geq \lambda$,
2. $p = 1$ and $s = 1$ or $s = 2$ for $0 \leq n < \lambda$, $\mu \notin \mathbb{N}$,
3. $p = \left\lceil \frac{\lambda - n - 1}{\mu} \right\rceil + 1$ and $s = 1$ for $0 \leq n < \lambda$, $\mu \in \mathbb{N}$.

Proof. First, let $n \geq \lambda$. Then $n - \lambda + 1 > 0$, $\lambda + k + 1 > 0$ and therefore all the coefficients $c_k \neq 0$. Now, let $0 \leq n < \lambda$. Then all a_k are positive but $n - \lambda + 1 \in \mathbb{Z}_0^-$ and because of that $b_0 = 0$. Further if $\mu \notin \mathbb{N}$, then $b_1 \neq 0$ and, like in Lemma 3, $b_2 \neq 0$ or $b_2 = 0$ but $b_3 \neq 0$. If $\mu \in \mathbb{N}$, then $n - \lambda + k\mu + 1 \in \mathbb{Z}$ and therefore $b_k = 0$ for $k \leq \frac{\lambda-n-1}{\mu}$, that is $b_k > 0$ for $k > \frac{\lambda-n-1}{\mu}$. So, $c_k = 0$ for $0 \leq k \leq \left\lfloor \frac{\lambda-n-1}{\mu} \right\rfloor$, and $c_k \neq 0$ for $k \geq \left\lfloor \frac{\lambda-n-1}{\mu} \right\rfloor + 1$. ■

The above proven lemmas show that the functions $J_{n-2\lambda,\lambda}^\mu(z)$ can be written in the form

$$J_{n-2\lambda,\lambda}^\mu(z) = \frac{(-1)^p (z/2)^{n+2p}}{\Gamma(\lambda + p + 1) \Gamma(n - \lambda + p\mu + 1)} \left(1 + \theta_{n-2\lambda,\lambda}^\mu(z)\right),$$

with

$$\theta_{n-2\lambda,\lambda}^\mu(z) = \sum_{k=p+s}^{\infty} (-1)^{k-p} \frac{\Gamma(\lambda + p + 1) \Gamma(n - \lambda + p\mu + 1)}{\Gamma(\lambda + k + 1) \Gamma(n - \lambda + k\mu + 1)} \left(\frac{z}{2}\right)^{2(k-p)}, \quad (6)$$

$$p \geq 0, \quad s \geq 1.$$

MAIN RESULTS

Our aim is to estimate the entire functions $\theta_{n-2\lambda,\lambda}^\mu(z)$. To this end we transform the expression in the equality (6) that leads to the identity

$$\theta_{n-2\lambda,\lambda}^\mu(z) = \frac{\Gamma(\lambda + p + 1) \Gamma(n - \lambda + p\mu + 1)}{\Gamma(n - \lambda + (p+s)\mu + 1)} \sum_{k=p+s}^{\infty} \frac{(-1)^{k-p} \gamma_k}{\Gamma(\lambda + k + 1)} \left(\frac{z}{2}\right)^{2(k-p)}, \quad (7)$$

with

$$\gamma_k = \frac{\Gamma(n - \lambda + (p+s)\mu + 1)}{\Gamma(n - \lambda + k\mu + 1)}.$$

Remark 3. Remind, for using in the further considerations, that there exists a number $1 < \alpha_0 < 2$ such that Euler's Gamma function $\Gamma(\alpha)$ is on the increase for $\alpha_0 < \alpha < \infty$ and on the decrease for $0 < \alpha < \alpha_0$ and on the set \mathbb{R}^+ of the positive real numbers $\Gamma(\alpha)$ has its absolute minimum in the point α_0 , that is $\Gamma(\alpha_0) = \min_{\alpha \in \mathbb{R}^+} \Gamma(\alpha)$.

Theorem 1. Let $\lambda = 0$. Then

$$|\theta_{n-2\lambda,\lambda}^\mu(z)| \leq \frac{\Gamma(n+1)}{\Gamma(n+\mu+1)} \left(\exp\left(\left|\frac{z^2}{4}\right|\right) - 1 \right), \quad n \in \mathbb{N},$$

$$|\theta_{n-2\lambda,\lambda}^\mu(z)| \leq \frac{1}{\Gamma(\mu+1)\Gamma(\alpha_0)} \left(\exp\left(\left|\frac{z^2}{4}\right|\right) - 1 \right), \quad n = 0.$$

Proof. Because of Lemma 1, we have $p = 0$, $s = 1$, $\gamma_k = \frac{\Gamma(n+\mu+1)}{\Gamma(n+k\mu+1)}$ and

$$\theta_{n-2\lambda,\lambda}^\mu(z) = \frac{\Gamma(n+1)}{\Gamma(n+\mu+1)} \sum_{k=1}^{\infty} \frac{(-1)^k \gamma_k}{\Gamma(k+1)} \left(\frac{z}{2}\right)^{2k},$$

whence

$$|\theta_{n-2\lambda,\lambda}^\mu(z)| \leq \frac{\Gamma(n+1)}{\Gamma(n+\mu+1)} \sum_{k=1}^{\infty} \frac{(|z/2|^2)^k}{\Gamma(k+1)} \gamma_k.$$

In view of Remark 3, we can write $0 < \gamma_k \leq 1$ for $n \in \mathbb{N}$ and $0 < \gamma_k \leq \frac{\Gamma(\mu+1)}{\Gamma(\alpha_0)}$ for $n = 0$ that proves the theorem. ■

Theorem 2. Let $\lambda \in \mathbb{Z}^-$, then

$$|\theta_{n-2\lambda,\lambda}^\mu(z)| \leq \Gamma(1+\mu-\lambda\mu) \frac{\Gamma(n-\lambda-\lambda\mu+1)}{\Gamma(n-\lambda+(1-\lambda)\mu+1)} \left(J_{-\lambda\mu}^\mu \left(-\left| \frac{z^2}{4} \right| \right) - \frac{1}{\Gamma(1-\lambda\mu)} \right).$$

Proof. According to Lemma 2, $p = -\lambda$ and $s = 1$ and therefore (7) takes the form

$$\theta_{n-2\lambda,\lambda}^\mu(z) = \frac{\Gamma(n-\lambda-\lambda\mu+1)}{\Gamma(n-\lambda+(1-\lambda)\mu+1)} \sum_{k=p+1}^{\infty} \frac{(-1)^{k-p} \gamma_k}{\Gamma(\lambda+k+1)} \left(\frac{z}{2}\right)^{2(k-p)},$$

with

$$\gamma_k = \frac{\Gamma(n-\lambda+(p+1)\mu+1)}{\Gamma(n-\lambda+k\mu+1)}.$$

Since

$$\gamma_k = \frac{(n-\lambda+(p+1)\mu)}{(n-\lambda+k\mu)} \times \dots \times \frac{(1+(p+1)\mu)}{(1+k\mu)} \times \frac{\Gamma(1+(p+1)\mu)}{\Gamma(1+k\mu)},$$

then

$$0 < \gamma_k \leq \frac{\Gamma(1+(1-\lambda)\mu)}{\Gamma(1+k\mu)}.$$

Using denotation

$$w_k(z) = \frac{(-1)^{k-p} \gamma_k}{\Gamma(\lambda+k+1)} \left(\frac{z}{2}\right)^{2(k-p)},$$

we obtain consecutively

$$\sum_{k=p+1}^{\infty} w_k(z) = \sum_{k=1}^{\infty} w_{k+p}(z) = \sum_{k=1}^{\infty} \frac{(-1)^k \gamma_{k+p}}{\Gamma(k+1)} \left(\frac{z}{2}\right)^{2k},$$

$$\left| \sum_{k=p+1}^{\infty} w_k(z) \right| \leq \sum_{k=1}^{\infty} \frac{\gamma_{k+p}}{\Gamma(k+1)} \left(\left| \frac{z}{2} \right|^2 \right)^k \leq \sum_{k=1}^{\infty} \frac{\Gamma(1+\mu-\lambda\mu) (|z/2|^2)^k}{\Gamma(k+1)\Gamma(1+k\mu-\lambda\mu)}$$

$$= \Gamma(1 + \mu - \lambda\mu) \left(\sum_{k=0}^{\infty} \frac{(|z/2|^2)^k}{\Gamma(k+1)\Gamma(1+k\mu-\lambda\mu)} - \frac{1}{\Gamma(1-\lambda\mu)} \right),$$

whence the conclusion of the theorem immediately follows. \blacksquare

Theorem 3. Let $\lambda \in \mathbb{R}^- \setminus \mathbb{Z}$, then there exists an entire function τ such that

$$|\theta_{n-2\lambda,\lambda}^\mu(z)| \leq |\Gamma(\lambda+1)| \frac{\Gamma(n-\lambda+1)}{\Gamma(n-\lambda+\mu+1)} \sum_{k=1}^{\infty} \frac{(|z/2|)^{2k}}{|\Gamma(\lambda+k+1)|} \tau(|z|^2/4; \lambda).$$

Proof. Now, due to Lemma 1, we have $p = 0$, $s = 1$, $\gamma_k = \frac{\Gamma(n-\lambda+\mu+1)}{\Gamma(n-\lambda+k\mu+1)}$ and

$$\theta_{n-2\lambda,\lambda}^\mu(z) = \Gamma(\lambda+1) \frac{\Gamma(n-\lambda+1)}{\Gamma(n-\lambda+\mu+1)} \sum_{k=1}^{\infty} \frac{(-1)^k \gamma_k}{\Gamma(\lambda+k+1)} \left(\frac{z}{2}\right)^{2k}, \quad (8)$$

respectively

$$|\theta_{n-2\lambda,\lambda}^\mu(z)| \leq |\Gamma(\lambda+1)| \frac{\Gamma(n-\lambda+1)}{\Gamma(n-\lambda+\mu+1)} \sum_{k=1}^{\infty} \frac{(|z/2|^2)^k}{|\Gamma(\lambda+k+1)|} \gamma_k.$$

Further, the increase of the Gamma function leads to the inequality $0 < \gamma_k \leq 1$ for $n \in \mathbb{N}$ and $n = 0$ but $1 - \lambda + \mu \geq \alpha_0$ whereas $0 < \gamma_k \leq \frac{1}{\Gamma(\alpha_0)}$ for $n = 0$ and $1 < 1 - \lambda + \mu < \alpha_0$.

Finally, getting $C = \max\left(1, \frac{1}{\Gamma(\alpha_0)}\right) = \frac{1}{\Gamma(\alpha_0)}$ and $\tau(z; \lambda) = C \sum_{k=1}^{\infty} \frac{z^k}{|\Gamma(\lambda+k+1)|}$, we complete the proof of the theorem. \blacksquare

Theorem 4. Let $\lambda \notin \mathbb{R}$, that is $\lambda = \lambda_1 + i\lambda_2$ ($\lambda_1, \lambda_2 \in \mathbb{R}$, $\lambda_2 \neq 0$), then there exists entire functions φ and φ_1 such that

$$|\theta_{n-2\lambda,\lambda}^\mu(z)| \leq |\Gamma(\lambda+1)| \frac{|\Gamma(n-\lambda+1)|}{|\Gamma(n-\lambda+\mu+1)|} \varphi(|z|^2/4; \lambda, \mu)$$

for $n \geq \lambda_1$ and

$$|\theta_{n-2\lambda,\lambda}^\mu(z)| \leq |\Gamma(\lambda+1)| \frac{|\Gamma(n-\lambda+1)|}{|\Gamma(n-\lambda+\mu+1)|} \varphi_1(|z|^2/4; \lambda, \mu)$$

for $0 \leq n < \lambda$.

Proof. Analogously to Theorem 3, $p = 0$, $s = 1$, and identity (8), like in Theorem 3 and with the same γ_k , expresses $\theta_{n-2\lambda,\lambda}^\mu(z)$.

First, we consider the case $n \geq \lambda_1$. Following the idea of the proof of Theorem 2, we obtain the estimate

$$|\gamma_k| \leq \frac{|\Gamma([\lambda_1] + 1 - \lambda_1 + \mu - i\lambda_2)|}{|\Gamma([\lambda_1] + 1 - \lambda_1 + k\mu - i\lambda_2)|} = \frac{|\Gamma([\lambda_1] + 1 - \lambda + \mu)|}{|\Gamma([\lambda_1] + 1 - \lambda + k\mu)|}.$$

Now, let $0 \leq n < \lambda_1$. Then because of the convergency of the sequence $\{\gamma_k\}_{k=1}^\infty$, it is bounded and therefore there exists a constant \tilde{C} such that $|\gamma_k| \leq \tilde{C}$ for all the values of k . Eventually, the proof ends taking

$$\varphi(z; \lambda, \mu) = |\Gamma([\lambda_1] + 1 - \lambda + \mu)| \sum_{k=1}^{\infty} \frac{z^k}{|\Gamma(\lambda + k + 1)\Gamma([\lambda_1] + 1 - \lambda + k\mu)|},$$

$$\text{and } \varphi_1(z; \lambda, \mu) = \tilde{C} \sum_{k=1}^{\infty} \frac{z^k}{|\Gamma(\lambda + k + 1)|}. \quad \blacksquare$$

Let $E_{\alpha, \beta}(z)$ and $E_{(1/\rho_1, 1/\rho_2), (\mu_1, \mu_2)}$ be respectively the Mittag-Leffler function and its multi-index (two-index) analogue, namely

$$E_{\alpha, \beta}(z) = \sum_{k=0}^{\infty} \frac{z^k}{\Gamma(\alpha k + \beta)}, \quad (\alpha > 0, \beta > 0),$$

$$E_{(1/\rho_1, 1/\rho_2), (\mu_1, \mu_2)}(z) = \sum_{k=0}^{\infty} \frac{z^k}{\Gamma\left(\mu_1 + \frac{k}{\rho_1}\right) \Gamma\left(\mu_2 + \frac{k}{\rho_2}\right)}, \quad (\rho_1 > 0, \rho_2 > 0).$$

The detailed properties of these functions can be found in the contemporary monographs [2], [3], and [11], for details see [4], [5].

Theorem 5. Let $\lambda \in \mathbb{R}^+ \setminus \mathbb{N}$, then for $n > \lambda$

$$|\theta_{n-2\lambda, \lambda}^\mu(z)| \leq \Gamma(\lambda + 1) \Gamma([\lambda] - \lambda + s\mu + 1) \frac{\Gamma(n - \lambda + 1)}{\Gamma(n - \lambda + s\mu + 1)} \\ \times \left(E_{(1, \mu), (\lambda+1, [\lambda]-\lambda+1)}(|z|^2/4) - \frac{1}{\Gamma(\lambda + 1) \Gamma([\lambda] + 1 - \lambda)} \right),$$

and there exists a constant C such that for $0 \leq n < \lambda$

$$|\theta_{n-2\lambda, \lambda}^\mu(z)| \leq C \Gamma(\lambda + 1) \frac{|\Gamma(n - \lambda + 1)|}{|\Gamma(n - \lambda + s\mu + 1)|} \left(E_{(1, \lambda+1)}(|z|^2/4) - \frac{1}{\Gamma(\lambda + 1)} \right).$$

Proof. According to Lemma 3, $p = 0$, $s = 1$ or $s = 2$, $\gamma_k = \frac{\Gamma(n - \lambda + s\mu + 1)}{\Gamma(n - \lambda + k\mu + 1)}$ and

$$\theta_{n-2\lambda, \lambda}^\mu(z) = \Gamma(\lambda + 1) \frac{\Gamma(n - \lambda + 1)}{\Gamma(n - \lambda + s\mu + 1)} \sum_{k=s}^{\infty} \frac{(-1)^k \gamma_k}{\Gamma(\lambda + k + 1)} \left(\frac{z}{2}\right)^{2k},$$

respectively

$$|\theta_{n-2\lambda, \lambda}^\mu(z)| \leq \Gamma(\lambda + 1) \left| \frac{\Gamma(n - \lambda + 1)}{\Gamma(n - \lambda + s\mu + 1)} \right| \sum_{k=s}^{\infty} \frac{(|z/2|^2)^k}{\Gamma(\lambda + k + 1)} |\gamma_k|.$$

For $n > \lambda$, in the same way like in the proof of Theorem 4 we get to the inequality

$$0 < \gamma_k \leq \frac{\Gamma([\lambda] + 1 - \lambda + s\mu)}{\Gamma([\lambda] + 1 - \lambda + k\mu)}$$

for all $k \geq s$ that immediately ends the proof.

The case $n < \lambda$, again goes in the same way like in Theorem 4. ■

Theorem 6. Let $\lambda \in \mathbb{N}$, then

$$|\theta_{n-2\lambda,\lambda}^\mu(z)| \leq \Gamma(\lambda+1)\Gamma(\mu+1) \frac{\Gamma(n-\lambda+1)}{\Gamma(n-\lambda+\mu+1)} \left(E_{(\mu,1)(1,\lambda+1)}^{(2)}(|z|^2/4) - \frac{1}{\Gamma(\lambda+1)} \right)$$

for all $n \geq \lambda$ and there exists a constant C such that for $0 \leq n < \lambda$ holds

$$|\theta_{n-2\lambda,\lambda}^\mu(z)| \leq C\Gamma(\lambda+p+1) \frac{\Gamma(n-\lambda+p\mu+1)}{\Gamma(n-\lambda+(p+s)\mu+1)} \left(E_{(1,\lambda+1)}(|z|^2/4) - \frac{1}{\Gamma(\lambda+1)} \right)$$

with the corresponding p and s .

Proof. Beginning with the case $n \geq \lambda$, we have, according to Lemma 4, that $p = 0$, $s = 1$ and identity (8), like in the proof of Theorem 3, expresses $\theta_{n-2\lambda,\lambda}^\mu(z)$, with the same γ_k . Then, like in the proof of Theorem 2, we get to the inequalities $0 < \gamma_k \leq \frac{\Gamma(\mu+1)}{\Gamma(k\mu+1)}$ for all $k \in \mathbb{N}$ and therefore

$$\begin{aligned} |\theta_{n-2\lambda,\lambda}^\mu(z)| &\leq \Gamma(\lambda+1) \frac{\Gamma(n-\lambda+1)}{\Gamma(n-\lambda+\mu+1)} \sum_{k=1}^{\infty} \frac{(|z/2|^2)^k}{\Gamma(\lambda+k+1)} \gamma_k \\ &\leq \frac{\Gamma(n-\lambda+1)\Gamma(\lambda+1)\Gamma(\mu+1)}{\Gamma(n-\lambda+\mu+1)} \left(\sum_{k=0}^{\infty} \frac{(|z/2|^2)^k}{\Gamma(k\mu+1)\Gamma(\lambda+k+1)} - \frac{1}{\Gamma(\lambda+1)} \right) \\ &= \frac{\Gamma(n-\lambda+1)\Gamma(\lambda+1)\Gamma(\mu+1)}{\Gamma(n-\lambda+\mu+1)} \left(E_{(\mu,1)(1,\lambda+1)}^{(2)}(|z|^2/4) - \frac{1}{\Gamma(\lambda+1)} \right) \end{aligned}$$

for all $n \geq \lambda$.

The proof of the case $n < \lambda$ become in the same way like in Theorem 4, using the inequalities $\Gamma(\lambda+k+p+1) > \Gamma(\lambda+k+1) > 0$. ■

CONCLUSION

By the way, using connection (3), similar estimates for functions like (1) and the Bessel functions can be obtained, just as a particular case of the above given. Such inequalities are recently considered and used by the author to study series convergency ([7]-[9]). By means of these estimates and using Stirling's formula (see e.g. [1]) one can obtain the following result.

Theorem 7. Let $\mu > 0$. Then the generalized Bessel-Maitland (Wright) functions (4) satisfy the following asymptotic formula

$$J_{n-2\lambda,\lambda}^{\mu}(z) = \frac{(-1)^p (z/2)^{n+2p}}{\Gamma(\lambda+p+1)\Gamma(n-\lambda+p\mu+1)} (1 + \theta_{n-2\lambda,\lambda}^{\mu}(z)), \quad (9)$$

$$\theta_{n-2\lambda,\lambda}^{\mu}(z) \rightarrow 0 \text{ as } n \rightarrow \infty.$$

On the compact subsets of the complex plane \mathbb{C} convergence is uniform and

$$\theta_{n-2\lambda,\lambda}^{\mu}(z) = O\left(\frac{1}{n^{s\mu}}\right), \quad (n \in \mathbb{N}) \quad (10)$$

with the corresponding $s \in \mathbb{N}$, depending on λ .

The proof is evident. ■

Acknowledgements. Paper is supported by the Project ID 02/25/2009 "ITMSFA" of the National Science Fund - Ministry of Education, Youth and Science of Bulgaria.

REFERENCES

1. A. Erdélyi et al. (Ed-s), *Higher Transcendental Functions*, Vols. **1 - 3**, McGraw-Hill, New York-Toronto-London, 1953.
2. A.A. Kilbas, H.M. Srivastava, J.J. Trujillo, *Theory and Applications of Fractional Differential Equations*, Elsevier, 2006.
3. V. Kiryakova, *Generalized Fractional Calculus and Applications*, Longman Sci. Tech. & J. Wiley, Harlow - N. York (1994).
4. V. Kiryakova, Multiple (multiindex) Mittag-Leffler functions and relations to generalized fractional calculus. *Journal of Computational and Applied Mathematics*. **118** (2000), 241-259.
5. V. Kiryakova, The special functions of fractional calculus as generalized fractional calculus operators of some basic functions, *Computers and Mathematics with Appl.*, **59**, No 3 (2010), 1128-1141, doi:10.1016/j.camwa.2009.05.014.
6. O. Marichev, *A Method of Calculating Integrals of Special Functions (Theory and Tables of Formulas)* (In Russian: *Metod vychisleniya integralov ot spetsial'nykh funktsij (Teoriya i tablitsy formul)*). Nauka i Tekhnika, Minsk, (1978).
7. J. Paneva-Konovska, Tauberian theorem of Littlewood type for series in Bessel functions of first kind, *Compt. Rend. Acad. Bulg. Sci.*, **62**, No2, 2009, 75-84.
8. J. Paneva-Konovska, Convergence of series in Mittag-Leffler functions. *Compt. rend. Acad. bulg. Sci.* Tome **63**, No 6, 2010, 815-822.
9. J. Paneva-Konovska. Tauberian Theorem of Littlewood Type for Series in Bessel-Maitland Functions. *Mathematica Macedonica*. Vol. 6, 2008, 55-60.
10. R.S. Pathak, (1966), Certain convergence theorems and asymptotic properties of a generalization of Lommel and Maitland transformations, *Proc. Nat. Acad. Sci. India*, A-36, No 19, (1966), 81-86.
11. I. Podlubny, *Fractional Differential Equations*, Acad. Press, New York. 1999.
12. E.M. Wright, On the coefficients of power series having exponential singularities, *J. London Math. Soc.*, (1933), 71-79.



SCImago
Journal & Country
Rank

EST MODUS IN REBUS

Horatio (Satire 1,1,106)

Home

Journal Rankings

Journal Search

Country Rankings

Country Search

Compare

Map Generator

Help

About Us

Show this information in
your own website

AIP Conference Proceedings

Indicator	2007-2014	Value
SJR		0.15
Cites per doc		0.19
Total cites		3499

www.scimagojr.com

☒ Display journal title

Just copy the code below and
paste within your html page:
<a href="http://www.scimag

Related product



@scimago

SJR is developed by:



Powered by

Scopus

Journal Search

Search query

in Journal Title

☐ Exact phrase

AIP Conference Proceedings

Country: [United States](#)

Subject Area: [Physics and Astronomy](#)

Subject Category: [Physics and Astronomy \(miscellaneous\)](#)

Publisher: [American Institute of Physics Publisig LLC](#). Publication type: Conferences and Proceedings. ISSN: 0094243X, 15517616

Coverage: 1974-1978, 1983-1984, 2005-2014

H Index: 34

Scope:

AIP Conference Proceedings report findings presented at many of the most important scientific meetings around the world. Published proceedings are [...]

[Show full scope](#)

Charts

Data

SJR indicator vs. Cites per Doc (2y)

The SJR indicator measures the scientific influence of the average article in a journal, it expresses how central to the global scientific discussion an average article of the journal is. Cites per Doc. (2y) measures the scientific impact of an average article published in the journal, it is computed using the same formula that journal impact factor™ (Thomson Reuters).

Citation vs. Self-Citation